## **Historic, Archive Document**

Do not assume content reflects current scientific knowledge, policies, or practices.



## APRIL SUPPLEMENT TO 1928 CATALOG

Variety	No.1	No.2	No.3	No.4	No.5	No.6	Bhts.	Per:
RICHARD DIENER Per 100 Per 1000	\$ 6.00	\$ 5.00 \$40.00	t pink G1 \$ 4.00 \$30.00	\$ 3.00 \$25.00	\$ 2.00 \$15.00	\$ 9.00	1000 1 qt.	\$1.00 \$9.00
Per 100	\$20.00 st Americ	\$15.00 can Beau	\$11.00 tv red. m	\$ 8.00 anv ope	\$ 6.00 en of la	sting qualit	1000	\$5.00
Per 100 Per 1000 ELIZABETH TABOR	\$ 6.00	\$ 5.00	\$ 3.00	\$ 2.00	\$ 1.50 \$10.00	\$ 1.00 \$ 7.00	1000 1 qt.	\$1.00 \$4.00
Per 100 MATTHEW CRAWFORI	\$ 5.00 O (K)	\$ 4.00 Large pi	\$ 3.00 nk.	\$ 2.00	\$ 1.40	\$ .80	1000	\$1.00
Per 100 GRETCHEN ZANG	\$ Fine tal	\$ 4.00 ll late	\$ 3.00° pink.			- 2	1000	\$1.00
Per 100 KING SMOKE (KUNI Per 100	DERD)	Somewhat	similar	to Roma	ance, mo	re flaked "I		\$1.00 \$1.00
SPECIAL COLLECT: Orchid Lady - Ku Mrs. F. C. Hornl in No. 1 - to - trial. Ask for	IÖN One anderd's perger - No. 6 on	e each o Yellow Harging c bulble	f the fol - Wonder er - and ts, we wi	lowing - Gold many of	: Eagle - ther top	Helen Phip -notch new	os - Afl Varietie	ame -
We have the but as surplus of added, as stated the 15% at ders. On order Under \$10.00 Value.	is so sma ated on a \$10.00 to cs \$10.00	all, we s first pag which is	will al <b>l</b> o ge of cat an error	w the dalog, tand sh	discount these di nould re	scounts are ad \$25.00 to	acted in correct \$50.00	stead ex- or-
As a spect bulblets of one to \$50.00 we will cash discount. a lot is left;	kind, we ll allow 25 bulb	e will a 10% dis s at 100	llow a SF count for rate, 50	PECIAL I entire Obulbs	LOT DISC e lots; s at 100	Over \$50.00 D rate. If	rders of 0 - 15%	\$5.00 extra
A. B. Kunderd-90 Aflame-See catal Alice Tiplady-40 Albania-300/31s	log and : 00/1-2's , 400/4':	special ( , 100/3'; s, 1500/	offers. s, 400/4' 5's, 3000	s, 1400 0/6's, 3	) 0/5 <b>'</b> s, 2 3 qts/bb	) 000/6's, 3 ( ts. \$3.00 ]	qts. \$2. per qt.	00 qt.
Alton-1000/3's, Alma Gluck-250/1 Anna Eberius-200 Anthony Zonker-2 Atherton-500/5's	l-2's, 39 0/3's, 30 200/2's,	50/3's, 00/4's, 600/3's	300/4's, 1000/6's. , 1000/5'	400/5's	s, 3 qts 0/6's, 1	/bbts. \$3.0	00 per q	t.
Beatrice-300/1-2 Beiver-100/2's, Blue Ribbon-100, Butterboy-300/1	2's, 800, 700/3's /3's, 100	/3's, 10 , 700/4'; 0/4's, 5	00/4's, 7 s, 700/5' 000 bulbl	00/5's s, 2500	, 4 qts/	bbts. \$5.00 qts/bbts. \$	per qt \$3.00 pe	r qt.
Chateau Theirry-Cameo-600/3's, Capt. Boynton-40	-100/4's 1200/4's 00/1-2's	, 300/5' , 1000/5 , 300/3';	s, 10,000 's, 1000/ s.	'6's, 2	qts/bbt			
Circe (K)-300/l- Dorothy McKibbir Draco-Glorosia-8	n-150/1-2	2's, 100,	/3's, 1 g	t/bbts	. \$4.00		obts. \$	3 qt.
Dr. Van Fleet-40	4 quarts, 00/1's, 2.00 per	/bulblet 1000/2's quart.	s \$2.00 p , 2000/4' See lot	s, 6000 disco	rt. D/5's, l unts.	0,000/6!s,		-
Excello(K)-300/3 E. J. Shaylor-19 E. B. Williamson E. G. Hill-300/3 Elf-800/3's, 200	50/3's, 3 n-50/4's 2's, 1200 00/4's, 3	250/4's, , 700/5'; 0/3's, 1: 3000/5's	2 qts/bb s, 10,000 200/4/s, , 3 qts/b	ots. @ 9 bulble 2000/5 bts. \$3	\$3.00 pe ets. 's, 5 qt 3.00 per	r quart. s/bbts. \$4.( quart.	00 <b>pe</b> r q	
Elizabeth Tabor- Fairy Blossom-79 Fern Kyle-3000/9 Gretchen Zang-10	5/3-4's, 5's, 700, 00/3's,	125/5's /4's, 200 400/4's,	, 400/6's 00/6's, 4 700/5's,	, 5000 qts/bl 1000/6	bulblet ots. @ \$8 5's, 2 q	s. 3.00 per qt. ts/bbts. \$3.	?	qt.
Giant Nymph-700, Glendale-1000/3	's, 2000/	/4's, 10	0,000 bul 00/5's, 7	olets (	\$2.50 ] 5, 10 qt:	per 1000. s/bbts. \$4.0	00 per q	t.

```
Gloriana-\frac{200}{1-2}'s, \frac{100}{3}'s, \frac{300}{4}'s, \frac{1000}{5}'s, \frac{1500}{5} bulblets.
Golden Butterfly-500/1-2's, 500/3's, 700/4's, 3 qts/bbts. $5.00 per qt.
Golden Swallow-500/5's, 200/6's, 10,000 bulblets.
Groff's Majestic-275/1-2's, 400/3's, 300/4's, 5000 bulblets.
Henry Ford-1200/4's, 1500/5's, 500/6's 4 qts/bbts. $6.00 per qt.

J. A. Carbone-200/1's, 150/2's, 1000/5's, 2000/6's, 4 qts/bbts. $6.00 per qt.

Jack London-500/2's, 700/3's, 700/4's, 2 qts/bbts. $4.00 per qt.
Jacob Von Bieren-300/1's, 500/2's, 500/3's, 400/4's, 2 qts/bbts. $6.00 qt. Kunderd's Yellow Wonder-10/3-4's, 25/5-6's.
Lancelot-100/2's, 100/3's, 150/4's, 350/5's, 10,000 bulblets.
Lilac Old Rose-75/1-2's, 50/3's, 50/5's, 5000 bulblets.
Matthew Crawford-150/3-4's, 500/5-6's, 2 qts/bbts. $3.00 per qt.
Maine-150/1-2's, 100/3's, 150/4's, 250/5's, 1500/6's, 5000 bulblets.
Mrs. Dr. Huff-100/1-2's, 100/3-4's, 300/5-6's, 5000 bulblets.
Mildred Adeline-40/1-2's, 35/3's, 50/4's, 200/5's, 500 bulblets.

Ming Toy-500/3's, 1000/4's, 1000/5's, 1000/6's, 2 qts/bbts. $4.00 per qt.

Miss Madison-150/2's, 200/3's, 300/4's, 10,000 bulblets.
Miss Spokane-1000/4's, 1000/5's, 4 qts/bbts. $4.00 per qt.
Mr. W.H. Phipps-150/1's,550/2's,2400/3's,500/4's,200/5's,2000/6's,10,000 bbts.
Mrs. F. C. Hornberger-See catalog and special offers.
Mrs. N. Vanderbilt-200/1's, 300/2's, 500/4's, 500/5's, 3 qts/bbts. $6.00 qt.
Muriel-400/4's, 2000/5's, 5000/6's, 2 qts/bbts. $3.00 per qt.
Nectarine(D)-50/3's, 200/4's, 800/5's, 2000/6's, 1 qt. bulblets @ $5.00.
Orange Prince-300/3-4's, 5000 bulblets.
Odin-100/1-2's, 300/4-5's, 500/5-6's, 5000 bulblets.
Opalescent-500/2's, 700/3's, 1200/4's, 500/5's, 5 qts/bbts. $10.00 per qt.
Pontiac-75/1-2's, 400/3's, 10,000 bulblets.
Prim Beauty-500/3's, 500/4's, 500/5's, 2 qts/bbts. $3.00 per qt.
Richard Diener-1000/1's, 3000/2's, 2500/3's, 3000/4's, 6000/5's, 15,000/6's.
                   10 quarts bulblets $8.00 per quart. See lot discount offers.
Rose Ash-500/3's, 2000/4's, 3000/5's, 3000/6's, 3 qts/bbts. $3.00 per qt.
Rose (Kunderd) -80/1-2's, 50/3's, 50/4's, 100/5's, 2000 bulblets.
Salmon Glow-See catalog and special offers. Special quotations on quantity.
Sasaulito-50/2's, 250/3's, 150/4's, 150/5's, 10,000 bulblets.
Senator Knox(K)-500/3's, 1500/4's, 2700/5's, 3500/6's, 3 qts/bbts. $3.00 qt. Sheila-200/1's, 700/2's, 1000/3's, 1200/4's, 2 qts/bbts. $5.00 per qt. Sheila's Sister-150/1-2's, 500/3's, 1000/4's, 1000/5's 2 qts/bbts. $4.00 qt.
Souvenir-200/2's, 1200/3's, 1500/4's, 2 qts/bbts. $2.00 per qt.
Shell Pink-750/2's, 1000/3's, 600/4's, 3 qts/bbts. $3.00 per qt.
Sulphur Glow-150/3's, 200/4's, 400/5's, 5000 bulblets.
Sunset Glow-275/1-2's, 300/3's, 300/4's, 200/5's, 10,000 bulblets.
The Aristocrat-150/1-2's, 50/3's, 50/4's, 1000 bulblets.
Theda(Bill)-50/2's, 200/3's, 3000 bulblets.
Thomas T. Kent-350/2's, 400/3's, 2 qts/bbts. $4.00 per qt.
Tycko Zang-250/1's, 425/2's, 800/3's, 800/4's, 1200/5's, 2000/6's,
4 quarts bulblets @ 15.00 per quart. See lot discount offers.

Vanity(Bill)-100/2's 500/3's, 500/4's, 500/5's, 500/6's, 2 qts/bts. $5.00 qt.

Victor(Australina)-20/1-2's, 30/3-4's, 30/5-6's, 200 bulblets.

Vaughan's White-150/1's, 400/2's, 100/3's, 1500/5's, 1500/6's, 5000 bulblets.

White Butterfly-300/1-2's, 300/4's, 500/5's, 10,000 bulblets.

William Kent-250/2's 350/3's 500/4's 1000/5's 2000/6's 3000 bulblets.
William Kent-250/2's, 350/3's, 500/4's, 1000/5's, 2000/6's, 3000 bulblets.
Willis E. Freyer(K)-50/2's, 200/3's, 10,000 bulblets.
      We can quote on small lots of following:
                                                            Maiden Blush- Scarlano- Ozone-
Brilliant- Fairfax- Distinction- Rev. Ewbank- Baron Hulot- Mrs. R. Spreckles-
            10,000 No. 6 of Carmen Sylvia mixed with Rosy Glow.
                                                                                 We also will
have a select list of the best commercial Darwin Tulips.
                                                                          Ask for list if
interested. 12 Leading Varieties in colors. NEW IRIS - We have over 200 select varieties including: Mother of Pearl, Ambassadeur, Ballerine, Opera,
Seminole, Asia, Souv. De Mme. Gaudichau, Shekinah and others. Many good
Perennials in wholesale quantities. DAHLIAS- Over 100 of the best new var-
ieties, in quantity. We have a Special Exchange list of new varieties of
Glads, Iris, Dahlias, Etc., that we can offer in exchange for stock we need.
If interested, ask for same.
```

F. C. HORNBERGER ROUTE #2 CLARK STREET HAMBURG NEW YORK